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IMPORTANT : Candidates have to do questions
31 to 90 EITHER from Part - II (Mathematics
and Science) OR from Part - III (Social Studies /
Social Science).

HETAUUT : TRAEATIOEt B U9 31 | 90 A1 At W - 11

(T T fa@) AT VR - JI] (I e
AT T ) A HFA T

PART - II / {7 - 11
MATHEMATICS AND SCIENCE / TifuTa a fasm=

Directions : Answer the following questions by
selecting the correct/most appropriate options.

31. If 0.139 + 0.75 + 2.105 - (1.001) x
1.1 =2 — K, then the value of k is

(1) 0.8925
(2) 0.982 [z
(3) 0.1071 [
4) 0.1075

3 5 .

3. Ifa=- 1 and b = 6 then which of the
following does not lie between a and b ?
(1 o

1
@ -3
2
3 -3
7
@ -y

33. The product of 1.7 x 10 and
125 x 10 s expressed in the
standard form as k x 10™. The value of
(2k + n) is
(1) 2.125
2) 1125
(3) 225
4 3.25

Adw : Aol wodi & s & & f
Y G 3UYH [ JHT :

31, 3@ 0.139 + 0.75 + 2.105 — (1.001) x
1.1=2-kg, M kAR Z
(1)  0.8925
o 2) 0982
- (3) 0.1071
4)  0.1075
2. aRa=-Jaiwp-2§ Afmiawm
T a 3R b & o a7 2
I o
1
@ -3
2
G -3
Z
@ -3
33, 1.7 x 10% 3R 12.5 x 1070 & UHEA I

Uk &9 U k x 10 gR1 =46 foman Sman
21Qk+n)FAAR

(1) 2125
(2) 1.125
(3) 225
4) 325

SPACE FOR ROUGH WORK / T% &4 & faw sre




P-1I
34.

35s.

36.

Two numbers are in the ratio 3:5. If
12 is added to both the numbers, then
the ratio becomes 5:7. The sum of the

given two numbers is

(1 32
(2) 40
(3) 48
4) 56

The marked price of an article is
% 840. A shopkeeper gives a discount
of 15% on the marked price and still
makes a profit of 19%. What is the

cost price of the article ?

(1) %540
2) %580
(3)  T600
4) %640
_ dx —
If5x3—7+2 = x4 3 4 4x, then the

value of (8x + 5) is

(1 6
Q) 7
3 9
@) 13

(11

34.

3s.

36.

M
3 A 3:5 % U@ 4 g | e Uk
T | 12 S W, @ T SFII 5:7 &
AT 2 | S E S A3 R A g

(1) 32

(2) 40

(3) 48

4) 56

foreht oeg w1 sifRa A T 840 2 | T

THTGR 38 %G hi 3R Tod W 15%
H P2 I T B, IR TR ot 3| 19%
T I a1 ¢ | TG 1 5hel Hod FT R 2
(1) %540

2) %580

(3) %600

(4) %640

S e L
(8x+5) HHAFAZ

(1 6

2 7

3 9

4) 13

SPACE FOR ROUGH WORK / T% &4 & faw se



38.

39.

Let

P = 12xy — 10y% — 18x2,

Q = 14x? + 12y? + 9xy, and
R= 5y2 -2+ Xy
then(P+Q)-R=

(1)  22xy—3x2+3y?

(2)  22xy +3x%—3y2

(3)  20xy —7x2 —3y?

(4)  20xy —3x2 - 3y?2

1
If x* + —; = 322, x = 0, then one of the
X

values of ( —l) is
X

1 2
2 4
3) 6
4) 8

If 15x% — 26x + 8 = (Ax + B) (Cx + D),
where A and C are positive integers,
then what is the value of A +B - C —
2D) ?

(1) 0
2 1
3 2
4 3

(12)

H

39.

37.

38.

P-1I

UM iR

P = 12xy — 10y? — 18x2,

Q = 14x% + 12y + 9xy, 3R
R=5y2—x%+ xy% |
TWP+Q) -R=

(1) 22xy—3x2 + 3y?

(2)  22xy +3x% - 3y?

(3)  20xy—7x? —3y?

4) 20xy- 3x2 — 3y2

1 Y N 1
aﬁx4+—4=322,x¢0g,m(x——)w
X X,

Tk UM
1 2
2) 4
3) 6
“ 8

T2 15x% — 26x + 8 = (Ax + B) (Cx + D)
3, W&, A 3R C YT Yotk g, al
2A+B-C-2D) W HAFATE ?

(1 0
@ 1
3 2
@ 3

SPACE FOR ROUGH WORK / T% &4 & faw se
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40.

41.

42,

43.

In AABC and ADEF, if AB = EF,
BC =DE and CA =FD, then

(1) AABC = ADEF
(2) AABC = AFED
(3) AABC = AEFD
(4) AABC = ADFE

Which of the following can be the
sides of a right angled triangle ?

(1) 20cm,21 cmand 31 cm
(2) 35cm, 77 cmand 88 cm
(3) 15cm,32cmand 57 cm
(4) 65cm, 72 cmand 97 cm

The number of edges of a polyhedron,
which has 7 faces and 10 vertices, is

1 13
2) 14
3) 15
@) 17

In AABC, the side AB is produced to
E and side CA is produced to D.
If ZBAD = 125° and ZEBC =
100°, then which of the following is
true ?

(1)  AABC is an isosceles triangle.

(2) AB>BC

(3) Difference between ZABC and
Z/ACB is 35°

(4) Difference between ZBAC and
ZACB is 20°

(13)

40.

41.

42,

43.

M
AABC 3R ADEF ® Ife AB = EF,

BC=DE@2 CA=FDg,dal
(1) AABC = ADEF
(2) AABC = AFED
(3) AABC = AEFD
(4) AABC = ADFE

e d 9 = @ v T Baw A
T & TR € 7

(1)  20cm, 21 cm 3R 31 cm

2) 35cm,77 cm 3T 88 cm

(3) 15cm, 32 cm 3R 57 cm

(4)  65cm, 72 cm 3R 97 cm

fret sgweier & 7 Wk SR 10 I
2 | 30 Sgheieh o foRAl ) T @

(1 13
Q) 14
3) 15
) 17

AABC ¥, §TT AB &l E T 3R Yl
CA &l D 0% ST @1 ¢ |

afe ZBAD = 125° 3R ZEBC =100° g,
dfmdasrmaag ?

(1) AABC gHfgamg e 2 |

(2) AB>BC®I

(3) ZABC 3R ZACB &1 3 35° % |
(4) /BAC 3T ZACB &1 3 20° § |

SPACE FOR ROUGH WORK / T% &4 & faw se



44.

45.

46.

47.

In trapezium PQRS, PQ || SR and the
ratio of PQ to SR is 3:2. If the area of

the trapezium is 480 cm? and the
distance between PQ and SR is 12 c¢m,

then the length of SR is
(1) 24cm
(2) 32cm
3) 36cm
4) 48cm

A rectangular sheet of paper 88 cm x 10 cm
is folded without overlapping to make a
cylinder of height 10 cm. What is the
capacity (in litres) of the cylinder ?

(Take T = %)
(1) 554
2) 616
(3) 7392
4)  8.624

The volume of a cube is 2197 cm?.

What is its lateral surface area
(in cm?)?

(1) 676

(2) 576

(3) 845

4 1014

What is the mean of the range, mode
and median of the data given below ?

5,10,3,6,4,8,9,3,15,2,9, 4,19, 11, 4
() 8

@ 9
(3) 10
@) 12

(14)

=

[=

H
£

H

46.

47.

44.

45.

P-11
T PQRS H, PQ || SR & 3R PQ a2
SR 1 UM 3:2 § | afe wHeE
% 480 cm? g 3R PQ TAT SR &

A gl 12 cm B, A SR P oaE @
(1) 24cm
(2) 32cm
(3) 36cm
(4) 48cm

88cmx10cquq3|1ﬁQT=53Tl'€l'd‘IT=Fl'{
ﬁwqmmcmﬁéwémm
HAA 2 | Aot h anian (efe #) o= 2

?(n= %Fﬁﬁﬂ)
(1) 554

2) 616

3) 7392

4)  8.624

foret == Rt 3T 2197 emd § | 36
uTvd g &t (em? ®) R ?

(1) 676
(2) 576
(3) 845
4) 1014

= siteret & foru, ufer, @ges qen
T T AT FAT 7
5,10,3,6,4,8,9,3,15,2,9,4,19, 11, 4
(H 8

@ 9
(3) 10
@ 12

SPACE FOR ROUGH WORK / %

H & for e
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48.

49.

Which of the following is most

appropriate strategy for introducing

the concept of multiplication of two

decimal numbers in the middle school ?

(1)  The algorithm should be used to
introduce the concept.

(2) The process should be visually
represented.

(3) Multiplication as repeated

addition should be emphasized.

inverse of

(4)  Multiplication as

division should be emphasized.

Which of the following is a narrow

aim of teaching mathematics ?

(1) To encourage systematic
reasoning among students.

(2) To develop students’ ability to
argue the truth and falsity of
statements.

(3) To make students proficient in
handling numbers and number
operations.

4 To

develop students’

generalization abilities.

(15)

48.

49.

M
meater foemem § 91 v arelt
TESA & TPAEA F Hehedd &l
gftem 37 & foro FafeRaa o @ <m @t
TATfereh IUFH WHIT ¢ ?

(1)  HeheudT o1 U= 3 % foTy e -
TerfRr =m1 s feman st =R |

(2) UfskaT 1 FaeTeAs ®9 0 YewH
T MR |

(3) uEd e s =fee T oHwa,
T3] T TH-TX AT F |

(4) vga fean s =fee T oHwa,
ferrer ot wfaei™ 2 |

Frafefea @ @ < o fvra g =

TR 339 E ?

(1) foenfRt o geaferd o =i
JrcaTtad ST |

2) o= o wem 6 goar AR
JTECAT bl YA LA <l FJr=an
1 TehTd T |

(3) Tt = st R GEmnan
W EH aTefl |iRAIST T FeTer
T | Fqor ST |

(4) Tt 4 om=fieor gmar o
forep@ T |

SPACE FOR ROUGH WORK / T% &4 & faw se



50.

51.

Which of the following is

appropriate

most

strategy for teaching

students to solve mathematical
problems ?

(1)  Guess and verify approach should
be strictly discouraged.

(2)  The list of formulae required for
solving the given set of problems
should be
beginning.

(3) Teacher  should

explaining the steps required for

provided in the

begin by

obtaining the solutions of the
problems.

(4)  Students should be encouraged to
view a problem from many

perspectives.

Identify the incorrect statement from
among the following :
(1)  Hypothesis

construction

have a role in

of  mathematical
knowledge.

(2) The notion of argumentation is
central to mathematics.

(3) Mathematical

involves precise use of language.

communication

(4) Conjectures do not have utility in
constructing mathematical

knowledge.

(16)

I

H
£

H

50.

51.

P-II
frafeRaa @ & < & aem et
=i TIUTAIE U9l <hl ge1 iA oAt f9Teron o1
% foru waifees sugwh @ 2
(1) 3FAH 3R g w0
hels U Edicaned
feT |

(2) YRY 4 & fGu T gl % qg H
B H % e sArewEsh gl hH
et SueTe U A =R |

(3)  SAeTfUehT I & H & THE 5 &
TTH {3 < =TT hl AT T el
MR |

4) foenfiat o ieafea frar S
=1fee foh 9 w9 1 9ga o i
T AR Bl |

o
[hdT ST

frafeiRea # @ o1y[g %A &t Ug=T :

(1) T 9 Y TEAT § aiehed T
<l Teh YfUehT € |

(2)  Tifore o shfotd qeh THE B & |

(3) i TeRer HOWTST ST SR
NG BT A 2 |

(4) TORE I R EEAT HOSEH
TR ST 7 B 2 |

SPACE FOR ROUGH WORK / T% &4 & faw se
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52.

53.

54.

Which of the following is a desirable

strategy for assessing students’

learning in mathematics ?

(1)  Same tasks should be given to all
students for parity.

(2) Students’ incorrect
should be ignored.

(3) Students’ justification of their
responses should be an important
basis of assessment.

answers

(4) Development of mathematical
vocabulary should not be a basis
of assessment.

For a given figure to be a triangle, the

condition that it is a union of three

segments is

(1) a necessary but not a sufficient
condition.

(2) a sufficient but not a necessary
condition.

(3) both necessary and sufficient
condition.

(4) neither necessary nor sufficient

condition.

Consider the following statements :

2

A =1If n is even, then n“ is even.

B = If n? is not even, n is not even.

C=1If n?is even, then n is even.

D =1If n is not even, then n?2

Which of the following statements is
true ?

(1) Cis converse of A.

(2) Dis converse of A.

(3) Bisinverse of A.

(4) D is contraposition of A.

is not even.

17)

52,

53.

54.

M
forenfofat o nfvra aiferm &1 gewteRa
A & fore frafalaa o @ = @ @
B ?

(1) @umar & fau ot faeniiE =
ThHEUH H1E e S =1feT |

(2) foenfi & amrg SR H e
T AT |

(3) Taenf= &t st AU & wmda
Sl GHAT AR T HEOl
SR EHT =M1 |

(4) T wTeg T o forehme Hearmeh
T ATIR T BFT AT |

T ATHH 1 Broget g o forg o o a1
i WaravEt @ it g

(1) AT & g TH 97 el 2 |
(2) YA, W] ST I T8 ¢ |
(3) HEH I HHIH A I @ |
(4) A Al AEIIH IR I=AH G B |
frmferftaa el w e Gt
A= nEaY, An2@AT|
B=aRn? @A TE, A nT@ATAE |
C=€Iﬁ{nzm%,?ﬁnm%l

D=aﬁ:nm=|€1'%,aﬁn2m=réf%l

frafaea wemi d a7
(1) C,ABfa@me |
(2) D,Awifocme |

(3) B, A®IUGAHE |
(4) D,Adiufafeafaz |

SPACE FOR ROUGH WORK / T% &4 & faw se



56.

57.

Which of the following teaching-
learning resources in mathematics
cannot be used for visually challenged
students ?

(1) GeoGebra

(2) Taylor’s abacus

(3) Tiles

(4) GeoBoard

Which of the following statements is
true ?
(1) Mathematics consists of all the

theorems proved in mathematics
books.

(2) A person good in arithmetical
computation is also good in
Mathematics and vice-versa.

(3) Intuition has no role in generating
mathematical knowledge.

(4) Mathematical statements can be
conditional.

Which of the following statements is

NOT correct regarding differently

abled children of dyslexia in

mathematics learning in an inclusive

classroom ?

(1) Dyslexia has an impact in a
person’s co-ordination of verbal
and spatial aspects of numbers.

(2) Visual patterns in mathematics
help in overcoming difficulties
experienced by dyslexic children.

(3) Dyslexic children may have
difficulty in writing down their
ideas in systematic and organized
manner.

(4) Dyslexia impacts only language
learning not mathematics learning.

(18)

57.

5S.

56.

P-11
giwanfer ferenfeii & foru FafaReaa @
¥ fraer v it e sftrm &
YA & T H T8} R et g ?

(1) TS

(2) R fiFam

(3) <A

4) Taee

feaffaa weRid A s @ a2

(1)  Tiore <Rt qeaeh! & <€ 78 T st
<t 3qufa & & i ST § |

(2) Ueh Ak I fob AR Titeher
T 311 & 98 i 3 o) 3T g

IR foretia: off 98 g gnm |

(3)  Tifvrd S o 3cdted § SAasty
IS R a2 |

(4)  TIOT e TfqEfid B dehd 8 |

Ut wen U UsA e are fafae

A T o BEN o MUK STRRM

foea fi FrfelRaa d A @ e T 2 2

(1) U3 WAl 1 I9E A6 &
el % wifeqsh 3R TR
gfEeh1oT & T U TR R |

(2) T < fesifRd T wed 3terHar
I QR H HERH A ¢ |

(3) USH AT 9 s=i hl A
feremi sl shoeig 3T Hufed &9 o
for@ o wfeaTs g1 wendi @ |

(4) ST AU hadl AT HiEH i
gunfera st 2 7 fop o stfrm
el

SPACE FOR ROUGH WORK / T% &4 & faw se
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58.

59.

60.

The number of distinct prime factors
of the largest 6-digit number is

1 3

(2 4
3) 5
4) 6

If the 8-digit number 179x091y is
divisible by 88, then what is the value
of x—y)?

(1 1
2 2
3) 3
4 4

13

11 5
Let a = 13’ b= 14 and ¢ = be three

fractions. Which of the following is
true ?

13 11 s
OERVESEE

15 13 11
@) 712~

1_15_13
G BT 1

11 13 15
@ B<1~1

(19)

58.

59.

60.

M

6-3h1 1 T ¥ T wem &
HHTT UHEE! h T ]

1 3

2 4

3) 5

“4 o6

gfe 8-k W& 179x091y, 88 &
s, M-y W AAE ?

1 1
2 2
(3) 3
4 4

13 o 15
ﬂﬁ?ﬁﬁl{ﬁﬁa—m,b—“aﬂ!c 17

i I fmAasRmaae ?

() 13 g 15
@ TR
& FE
@ FEET

SPACE FOR ROUGH WORK / T% &4 & faw se



M
Directions : Answer the following questions by
selecting the correct/most appropriate options.

61. Which of the following represents
correct matching set ?

(a) helps in the (i) Cartilage
movement of body
by contraction
and relaxation.

(b) Hard structure (ii) Muscles
which forms the
skeleton

(c¢) Part of skeleton (iii) Rib-cage
which can be bent

(d) Joins the chest (iv) Bones
bone and back
bone together to
form an enclosure

(M @ @), () (i), (¢) (i1), (d) (iv)
(2 (a) (i), (b) (iv), (¢) (1), (d) (iiD)
() (a) (i), (b) (iD), (¢) (1), (d) (iv)
4 (@) @), (b) (iii), (¢) (iD), (d) (1)

62. Which of the following glands in
human beings secretes more than two
hormones ?

(1)  Adrenal
(2)  Pituitary
(3) Pancreas
(4) Thyroid
63. Which of the following statements is
true ?
(1)  All metals are solids.
(2)  All metals are hard.
(3)  All non-metals are gases.

(4)  All non-metals are non-ductile.

64. ‘Y’ is a man-made fibre obtained
from a natural source. What could be

‘Y’ ?

(I) Rayon
(2) Nylon
(3) Acrylic
4) Jute

@0

P-1I

R : Fefifea g & s & &k
&/ qaH ITGH 4T I :

61.

62.

63.

64.

Frafeiaa @ @ =R w8 e = fsum

TATE ?

(a) Tapea ok il (i) swfeu
Fehl TR Rt T |
TETE Rt 2 |

(b) WX HTEEAT W (i) s
ThehTel ST & |

(c) heRTl o1 WIS (i) e -TUeR
T T Tkl € |

(@) ag f AR IR (iv) A
WEIUE Wl g
TR I AT HIAT
2

(M) (@) (@), ®) (i), ©) (i), (d) (iv)

(2)  (a)(ii), (b) (iv), (¢) (i), (d) (iii)

(3)  (a) (iii), (b) (id), (¢) (i), (d) (iv)

4 (3 (iv), (b) (iii), (¢) (ii), (d) (D)

frefeRaa o & TEl A w9
¥ srfires g ETfea A E 7

(1) ulgte

2)

3) 3I=ERE

(4) TS

R R T FR M @ R ?

(1) @i el 3/ Bl & |
2) @ grgi SR B & |
(3)  wf AU e I E |
(4) el 37Ty A (T ) Bt & |
v’ i ara-Ffta W (wEw) & Re
TTehfdeh |ia © UTH feRan Sran @ | <Y

(1) W&
(2) IS
(3) TUfshfern
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65.

66.

67.

68.

Study the following table :

Fuel| Calorific State | Ignition
value temp.
A High solid high
B Moderate gas high
C Moderate gas | moderate
D Low liquid low
Which is best suited as domestic fuel ?
1 A
(2 B
3 C
4 D

Species restricted to a particular area
are referred to as

(1)  Endangered species
(2)  Extinct species
(3) Endemic species

(4) Migratory species

Metal ‘X’ displaces metal ‘Y’ from its
salt solution but is not able to displace
A
Identify the most reactive metal.
1Hn X

@ Y

3 Z

(4) Cannot be determined.

metal from its salt solution.

Light rays from an object fall on a

surface and get reflected in a
completely diffused manner. What
can you say about the nature of image
of the object ?

(1) It will be virtual and of same size.

(2) It will be real and enlarged.

(3) It will be virtual and enlarged.

(4) No image will be formed.

21

O[O0
CIPEA S

65.

66.

67.

68.

et & Tt afeTeRt <A J1eEE <hifT
T | THI-AE | AT | S a
A 3= 3 I=|
B it b 3=
C negn pcs| ey
D = g =
T U We] $9F % ®U H HH 91 5
AT IR ?

1 A

(2 B

3 C

4 D

fereit fafore &= 4 fafvre wa @ urht s .
ST TS <hl gl AT 8 —

(1) Geherd— Tefst

() forge wdiefist

(3) Tormwerh wfsfis

(4) o TS

o1 X, 9T ‘Y’ hl IHeh TTavT-fareraq
¥ foreenfua = <ot 3 uveg g Z 1 3Tk
waut foeem | forenfua w6 o/ @

2 | T ed W arfuframie o

HEAER ?

1 X

@ Y

3 Z

(4) i 78 fepan s whan 2 |
Teret fora @ wrehTwn fereot forelt gs R Tt
g aun yuia: fomfa &0 @ wwafaa @ s

£ | o 3w fona & wfafera 6 wehfer &

ARH TN FEAFRAE ?

(1) 98 9 3R °9E G185 &
BT |

(2) Ig aTdfeeh 3R ATateld ghm |

(3) T W 3T AT g |

(4) I3 fafere 78 = |




70.

71.

72.

73.

In order to slide a huge box lying on
the ground in her room, Reshma
should apply a force which is greater
than which of the following forces ?
(1)  Static friction

(2)  Gravitational force

(3) Normal force

(4)  Muscular force

Identify the correct statement from

among the following :

(1)  The lower the frequency of the
vibration, higher is the pitch.

(2) The loudness of sound is
determined by the frequency of
vibration.

(3) Sound cannot travel through
vacuum.

(4)  Pitch of sound is determined by its
amplitude.

Which of the following sets comprises

liquids which are poor conductors of

electricity ?

(1)  tap water, shampoo, honey

(2)  salt solution, lemon juice, vinegar

(3) shampoo, vegetable oil, distilled
water

(4)  sugar solution, vinegar, lemon juice

Which of the following sets comprises

chemical changes ?

(1) Boiling of water, breaking of
glass, rusting of iron

(2) Dissolving salt in water, digestion
of food, shredding of paper.

(3) Cooking of food, boiling of water,
dissolving sugar in water.

(4) Rusting of iron, burning of paper,
digestion of food

Neena was cycling to the market to

buy some grocery items. The market

is 4 km away from her home. She

travels at a speed of 12 km/h for first

10 minutes. On her way she meets her

friend Nikhat and stops to chat with

her for 15 minutes. She resumes her

journey at a speed of 8 km/h. What is

her average speed for the journey ?

(1) 6km/h

(2) 8km/h

(3) 10km/h

(4) 4km/h

@)

69.

70.

71.

72.

73.

P-11
AT FW H w9 W W@ foret feemer st
= TR o foru =t frafeiaa se
o @ fered aiferes w1 oA =AU 2
(1) =&faes Tuo
(2)  TEcATShNYT &
(3) Afrers 9
4) wiFed

froafofaa & @ wfiwwm A ugEm

Hifu :

(1) mE & emafa = g, @ aRa
IHEAIR |

(2) et Sl Tererdl 1 FHURT s 6
T g feparn ST 2 |

(3) et fata o T TE o Eeh |

(4) @ * dRA 3G A™W I
fruffaaar g |

= fozn e wF W A= W gat @
TwIfers At g i ford o EF areTeR € 2

(1) 15, Ay, T8

(2) e foerM, i 1 W, R

(3) 9, FEfd o, YA e

4) = o1 foerm, e, g st @

e femn = wF W e TEEtE

Ol sl THTITS T 8 2
(1) U IS, Hid qredl, g i
ST AT

(2) A H AT =T, WIS 1 9T,
BT o Zhg—<hg Al

(3) WISH UshMI, U 3Tl A §
EIEIRINEL

(4) <& I ST ATHI, TS b1 ST,
VS BT UTe

1 fmm i 73 Tl Tl & fo

ASihct W TSR 71 T off | SR 36k T

¥4 kmFR | TR 10 Fme 12

km/h ! I | T fRa | 3@ T U

Iaeh T o freret @ oo ag s

15 fiee Sa=iia St @ | 38k uvad a8

A9 I 8 km/h Y Ol A fUm @

T Al g | SEh! TEN H e e

FR?

(1)  6kmh
(2) 8kmh
(3) 10km/h
(4) 4kmh
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75.

76.

77.

Which of the following will not be
helpful in the process of separating a
mixture of salt and water ?

(1) Decantation
(2) Filteration
(3) Distillation
(4) Boiling

Which of the following properties of
light can be used to explain the
phenomenon of shadow formation ?
Light travels in a straight line.
Light travels at a high speed.
Light is composed of seven colours.
Light does not pass through
opaque objects.

Aand B

Band C

Cand D

Dand A

SORP>

(M
2
3)
4

Identify the correct statement from
among the following :

(1)  The proportion of fine particles in
sandy soil is relatively higher than
in the clayey soil.

The amount of large and fine
particles is about the same in
clayey soil.

The proportion of large particles
in loamy soil is relatively higher
than in the sandy soil.

The proportion of fine particles in
clayey soil is relatively higher
than in the loamy soil.

2

€)

“

Deficiency of vitamin ‘X’ causes
bleeding of gums. This vitamin is
essential for absorption of mineral ‘Y’
and ‘X’ is found in food ‘Z’. Identify
X, Y and Z.

(1) X-vitamin D, Y- calcium, Z-milk
product

(2) X-vitamin C, Y-iron, Z-citrus
fruits

(3) X-vitamin B, Y-calcium, Z-green
leafy vegetables

(4) X-vitamin A, Y-phosphorus,

Z-poultry products

(23)

74.

75.

76.

77.
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B. YeHTYl 3 OTA & THA 1 ¢ |

C. ThI9T |Ia 90T (T) | e e g |
D. TeRTI STURGYT gl | T Teran ¢ |

(1) A3IWB

(2) B3RC

(3) C3RD

(4) D3MWA

Freafoiaa § @ 98 w2 ® ggen

(1) Qg Gq1 § TG 00 HT I
Teree) e B STaTTeRa S BT §

(2) Taef e o 5 wuni 3R 7EH Hol
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frefm X’ f i () F @R
THEl | SR 9gd o @ | 98 faetm
WA Y’ o STTYNIUT o foTu 3Tavaes 3
qAT “X° WA 7’ | 9 S 2 | X,

‘Y’ 3R ‘7’ ! g ;

() X-fqaf| D, Y-feqsm, zg4
3c1g

(2) X-fefE C, Y-31A, Z-Fe aw
% &

(3) X fwfm B, v&fcamm, z&h
gfen et ameafa

(4) X-fgafim A, Y-wieerE, Z-%se
3c1g



79.

80.

Which of the following statement best
describes the nature of science ?

(1)  science is a system of beliefs.
(2)  science is social in nature.

(3) scientists are totally objective in
their work.

(4) the scientific method is the only
guide for conducting research.
science

Cognitive  validity in

curriculum means

(1) inclusion of how concepts of
science evolve over time.

(2) adaptation of content as per the
cognitive level of learners.

(3) dilution of content

(4) inclusion
elements of science.

of appropriate fun

According to N.C.F. 2005 in the upper
primary stage science curriculum,
which of the
recommended ?

following s

a. Concepts should be linked to
making sense of everyday
experience.

b. Concepts should be arrived at from
activities/experiments.

¢. Concepts should be taught through
disciplinary approach.

d. Along with concepts, laws and
theories need to be introduced

(1) a/bandc
(2) aandb
(3) a,bandd

(4) aandd

(24)

H
H

H

78.

79.

- 80.
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(1) T foramdi <t weh goref 7 |

2) o wefa & amfores 2 |

(3) duiae 9w § Uul €9 A
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(4) oytes fafYr srEe™ & =red %
foTQ wepmm wiigfient @ |

o &t utegEEEt § SR dgdt w

A -

(1) Togm 6 sEumomd oo & 9
¥ Trepfid BIdi 2 ol THTeT |

) T & dFFeIs W) %
SATER ATt ST TS

(3)  UTST-TE] hI TSI

4) Tm & M weerR Tl W
STHE BT |

TLELUE. 2005 % AR, I WA

TR % forrm 6 urgaemt § fefettaa 3

T | SR 2 ?

a. JTAYURUNSAT T TR & AT i
U T B IS THT =Ry |

b. YNNI s TfIR=/S=T grl
TE M =R |

c. JAYRUNA 1 fowEeR Surm gm
forgron g =g |

d. rEuRune % e faw iR fagl =

9T S R AT 2 |
(1) ab3MWec
(2) a3Wb
(3) a,b3Md
(4) a3Md
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81.

82.

83.

From the following, identify the

statement that is true about science.

(1)  Scientists rely heavily on
imagination to carry out their

work.

All scientific ideas are discovered
tested by

experiments.

)

and controlled

(3)  When a theory has been supported
by a great deal of scientific

evidence, it becomes law.

In time, science will be able to solve

“

most of society’s problems.

Ishu was given an individual task of
collecting weather reports for a week.
Identify where Ishu went wrong from
the assessment indicators given below :

(1)  She tabulates data from a website

everyday.
(2)  She arrives at conclusion that rain

may or may not take place in the

coming week.

She that
humidity increases the likelihood

concludes decreased

3)

of rainfall.

“

She understands that range of

maximum and minimum

temperature varies everyday.

Which of the following is a useful
strategy to understand conceptual

gaps in learners ?

(1)  organizing quiz sessions
(2)  observing practical skills
(3)  using concept maps

(4) giving homework regularly

(25)

H
£

H
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82.
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84.

85.

86.

87.

To encourage more girls to take up
sciences, you may adopt all of the

following strategies, except

(1)  use gender sensitive language and
encourage your students to do so.

(2) be mindful that girls always
dominate discussion in science
classroom.

(3) invite women scientists to visit
your classroom.

(4) engage students in examining
myths and stereotypes about
science.

Science teachers need to ask more

divergent questions because

a. it stimulates and develops critical
thinking.

b. it directs
answers.

c. it helps develop thinking strategies

d. it helps in assessing creative
behaviour in a learner.

(1) a,b,c

(2) a,c,d

(3) onlyb

(4) onlya

students to correct

Using demonstrations in classroom

predominantly involves learners in

(1)  visual and auditory learning

(2)  visual learning only

(3) visual, auditory and kinesthetic
learning

(4) auditory and kinesthetic learning

Give the sequence of planning for
your science classroom using inquiry

approach in teaching concept of
density.
a. allow students to determine

relationship between objects that
float and sink.

b. allow students to play with water
in a tub with different objects.

c. ask students to design a small boat
that can carry 1 kg of weight.

(1) a->b-oc

2) c>b—oa

3) b—o>c—oa

4 b—oa—>c

26)
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88.

89.

90.

‘Y’ is a plant which does not have

Chlorophyll. What could ‘Y’ be ?
(1) Cuscuta

(2) Algae

(3) Pitcher plant

(4) Maple tree

Which of the following statements is

correct ?

(1) Large intestine is wider and

shorter than small intestine.

(2)  Absorption of digested food takes

place in large intestine.

(3) Assimilation of food takes place

in large intestine.

(4) Large intestine has finger like

projection called villi.

Which of the following statements is
NOT true regarding life cycle of silk

worm and production of silk fibres ?

(1)  The larvae of silk moths are called

as caterpillars.

(2) The pupa  develops into

caterpillar.

(3) Silk fibres are proteins secreted by

caterpillars.

(4) The silk yarn is obtained from the

cocoon of the silk moth.

27)
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